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領域 Dଶ ∩ Dଷ 
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１ 𝑓 ቀ
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√3

 2 
𝛼  

問

２ 

加法定理より， 

sin(3𝜃) = sin(2𝜃 + 𝜃) = sin 2𝜃 cos 𝜃 + sin 𝜃 cos 2𝜃. 

ここで， 

sin 2𝜃 = 2 sin 𝜃 cos 𝜃 , cos 2𝜃 = 1 − 2 sinଶ 𝜃 から， 

sin(3𝜃) = 2 sin 𝜃 cosଶ 𝜃 + sin 𝜃 (1 − 2 sinଶ 𝜃) 

                = 2 sin 𝜃 (1 − sinଶ 𝜃) + sin 𝜃 (1 − 2 sinଶ 𝜃) 

                = 3 sin 𝜃 − 4sinଷ𝜃. 
 

 

問

３ 
𝑓(𝜃) = −4𝑡ଷ + (3 − 𝛼)𝑡 
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問
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  −1 < 𝛼 < 3  
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 𝑘 = 200 

問

２ 1 − 𝑝 

問

３ 
 𝑎 = −𝑝ଶ + 3𝑝  

問

４ 

 𝑛 = 1  

（どのように考えたかの簡単な説明） 

（例）log102 < log105 < log1010 から 

   1 − 𝑝 < 𝑝 < 1 であり 
ଵ

ଶ
< 𝑝 < 1 

    𝑎 = −𝑝ଶ + 3𝑝 から  
ହ

ସ
< 𝑎 < 2  

（例）log10√10 < log105 < log1010 から  
ଵ

ଶ
< 𝑝 < 1  

    𝑎 = −𝑝ଶ + 3𝑝 から  
ହ

ସ
< 𝑎 < 2  

 

 


